Potencias de 10 (D)

78 = 1000

68 <1000

47 +1000

79 +100

78 =10

171000

31100

24 +1000

81+10

571000

Calcule los siguientes cocientes.

46 =10

71100

21 =10

93 =100

68 =100

44 =100

901000

49 - 10

98 =10

42 =100
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Potencias de 10 (D) Respuestas

78 +-1000
0.078
68 = 1000
0.068
47+ 1000
0.047
79100
0.79
78 =10
7.8
171000
0.017
31100
0.31
24 +-1000
0.024
81 +10
8.1
57 <1000
0.057

Calcule los siguientes cocientes.

46 - 10
4.6
71100
0.71
2110
2.1
93100
0.93
68 =+ 100
0.68
44 =100
0.44
90 - 1000
0.09
49 - 10
4.9
98 =10
9.8
42 +-100
0.42
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